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 20. The diagram shows the path of three rays of red light P, Q and R in glass.

The rays are incident at the glass-air boundary as shown.

air

glass

P

Q

20°60°
R 40°

The refractive index of the glass for this light is 1·50.

Which of these rays pass from the glass into the air at this boundary?

A P only

B R only

C Q and R only

D P and Q only

E P, Q and R

 21. Four resistors are connected as shown.

Y6∙0 ΩX

8∙0 Ω

4∙0 Ω2∙0 Ω

The total resistance between X and Y is

A  1·0 Ω

B  8·9 Ω

C  9·1 Ω

D  11 Ω

E  20 Ω.
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